AR A IR E R EER (FR26F12A5H~9HHHE)

.- = Wat#R=E (1 Sv/h) N EEES
NO HEEE 1cm 50cm 1.0m KgrgE ﬁwxﬁ%ﬁfﬁ
1 A—4 |BARI#ADO 0.48 0.44 0.39 BEh
2l B—8 |[#HAMKEE 0.58 0.39 0.33 B
3] B—4 |m/miEfhHE 0.61 0.40 0.27 BEh
4 B—5 [HBARLE 0.13 0.10 0.11 B O
5/, B—5 [athhAREE 0.09 0.11 0.16 B O
6] B—5 |ERGEM){HE 0.16 0.16 0.15 BEh O
71 B—5 [kEFDfhE 0.14 0.16 0.14 B O
8] B—5 |FBEH&RiEA 0.10 0.11 0.15 BEn O
9] B—6 [THHALESE 0.17 0.15 0.11 BEh O
100 B—6__ [FE)fhiE 0.18 0.16 0.16 B
11 B—6 |FEMERSEDFEO){Fik 0.11 0.11 0.10 BEh A
12| B—6 |[HRE(BZ=EFHA])hk 0.28 0.27 0.27 Bh
13] B—6__ [dlgifhix 0.39 0.34 0.28 Bh
14 B—6 |FHHABHE 0.41 0.31 0.26 BEh
15 B—6 |EI/BEAREER] 0.39 0.42 0.31 BEh
16] B—6 [XKIBRZEEHHE 0.13 0.15 0.13 BEh O
17] B—7 [/NEEFHIR(EEXATEE{fi) 0.17 0.16 0.16 BEn O
18/ Cc—3 [FARMEAAO 0.27 0.32 0.29 BEh
19 C—3 %/ Af=&Hih AOfHa 0.18 0.18 0.23 BEh A
200 C—4 |[#BOLU#A 0.44 0.32 0.26 Bh
21 C—4 | FHX(BFHMEE ) 0.32 0.22 0.22 B
22| C—4 [BX¥EHHE 0.39 0.34 0.23 Bh
23| C—4 |PXITI—a9  (BNE) (1) 0.19 0.17 0.16 Bh O
24| C—5 [BEENERfE 0.12 0.13 0.15 BEh A
25| C—5 |RILEMRE 0.45 0.40 0.31 Bh
26 C—5 |X£F 1.77 1.01 0.70 Bh
27l C—5 [TFEEEHNA 0.88 0.50 0.28 B
28] C—6_ |5OFEALE 0.25 0.27 0.29 BEh
29] Cc—6 |EIFALNELER 0.15 0.12 0.12 Bh @)
30 C—6 [fBILTEM#ADO 1.02 0.65 0.43 Bh
31 C—6 [T ZEMihEKthisEEim 0.54 0.44 0.33 BEh
32l Cc—6 [LATULAERI 0.38 0.27 0.25 BEh
33] C—6 [MEHIF{HE 0.38 0.27 0.23 BEh
34| C—6 |FEIREEEIHSHZTH 0.09 0.10 0.11 Bh O
35| C—6_ |IUTHREEAtE 2—(HEAH) 0.14 0.14 0.12 BEn O
36| C—6 [|[IUTESZERAEA 0.38 0.31 0.26 Bh
37l C—7 [N UNAVED 0.37 0.32 0.27 B
38] Cc—7 |[XKELABE(E) 0.13 0.13 0.11 BEn O
39 c—7 [|/NEAEREZER 0.34 0.20 0.18 BEh
40 C—7 |EHMFEEKIEMMIE 0.20 0.18 0.14 B
41 c—7 |EBFEEEMTE 0.24 0.25 0.23 Bh
42 Cc—7 pIUEER 0.51 0.40 0.32 Bh
43| C—7 |[EhEhh (BiE15) 0.31 0.32 0.29 BEh
4 C—7 | KRFHBHIERFHA 0.54 0.32 0.26 Bh
45| C—8 [BBRGhHE) 0.29 0.27 0.28 BEh
46| D—2 [IBYY—rwykCCAO 0.26 0.34 0.37 =)
471l D-3 |[HATE® 114 0.91 058] Bh
48] D—3 ERREERR 0.41 0.41 0.33 BEn
49| D—4 |SBh(ERfhHE 0.23 0.22 0.18 BEn A
500 D—4 |EB4EAE/AHNK 0.22 0.27 0.23 BEn
51 D—4 |[EPKRAESE 0.16 0.18 0.20 Bh A
52 D—5 éﬁtﬂ'r’éﬁr‘ T 0.50 0.28 0.23 BEh
53] D—5 [REE/MER (BIEIFHI) 0.35 0.28 0.22 BEh O
54 D-—5 ﬁ%E'\EﬁEﬁu 0.18 0.16 0.14 B O
55| D—5 [IHEMR/NEAER] 0.43 0.40 0.34 B
56| D—5 |EE/EAQOfhA 0.23 0.34 0.26 Bh
5711 D—6_|{fORYILI SR 0.12 0.13 0.12 BEn O
58 D—6 BFH—TU0E 0.10 0.12 0.10 Bh O
5] D—6 |FirOE#A 0.31 0.25 0.20 Bh
60/ D—6 [AXsA+FE 0.54 0.43 0.31 Bh A
61 D—6 |HEREIGEEN 0.50 0.38 0.31 BEh

*BFIUHEDZEILEDRE BT RIZEBHEDNESLYTT, EA42E
NO o WEHER= (u Sv/h) s RE
HEERTE 1cm 50cm 1.0m Krze B{?@%ﬁ%#ﬁsﬁ
62| D—6 |FHEHEEFBIS 0.42 0.39 0.32 BEh
63] D—6 |EHW=—a—437  (E) 0.17 0.17 0.16 Bh @)
64f D—7 |EFBHEAREFA 0.18 0.18 0.16 BEh @)
65] D—7 |LEEERBRZIHEUIES 0.18 0.16 0.14 BEh A
66/ D—7 [/NAEEH#R 0.36 0.47 0.39 BEh
67 D—7 |2)lihiz 0.17 0.16 0.15 BEh O
68| D—7 |ERULEE400mAEftia 0.18 0.27 0.22 Bh
69| D—7 |FEHEERAO 0.43 0.39 0.34 Bh
700 D—7 [EEBEEAE 0.29 0.29 0.26 Bh @)
71 D—7 |VIAAERTE R A 0.22 0.20 0.22 BEh
72| D—8 |FEIIFHEHIR) 0.18 0.20 0.21 Eh
73 E—2 |WFHEMME 0.38 0.34 0.32 £1l)
74| E—2 |EZFHEFB 0.69 0.42 0.27 =)
75| E—3 |BR/EDihigE 0.30 0.35 0.31 Bh
76| E—4 |[BEAREEH 0.11 0.10 0.11 B O
77 E—4 [BEX /RN REEH] 0.11 0.13 0.15|Fh (FEE 1cm) O
78 E—5 |FRRALFHE 0.20 0.23 0.19 Eh
79 E—5 |8k 0.28 0.22 0.25 BEh
80] E—6 [—/Xi#A 0.49 0.35 0.29 BEh
81 E—6 | EEFERER=FERMm A 0.45 0.36 0.31 BEh
82| E—6 [/NEAEHISAMA 0.25 0.19 0.14 BEh @)
83] E—6_ | KBOEYISUF 0.46 0.41 0.36 BEh
84| E—6 |[EEGEHFAAA) 0.42 0.43 0.37 BEh
85 E—7 |FIRERESEM R 1.53 0.79 0.52 BEh
86] E—7 |EHEIMSRAIEHAI 0.54 0.44 0.30 BEh
87 E—7 |ERAREER 0.12 0.13 0.13 BEh O
88 E—7 |ERARERHFIRME 0.33 0.30 0.25 BEh
89| F—4 [fg/itfha 0.40 0.36 0.30 Bh
90 F—4 |HEMREEL I—EIHISH 0.10 0.13 0.12 BEh @)
91 F—4 |HPaEE A fEHE 2 2 —HI 0.34 0.26 0.24 Eh
92 F—5 [BAMA#A(R289H/5500m% LFE) 0.38 0.30 0.24 Bh
93 F—5 |ZERARER 0.39 0.40 0.34 BEh
94 F—5 |®Bt A2—ZEAI 0.75 0.48 0.32 BEh
95 F—5 |ZIEPIGHRBIETA/0h 0.30 0.28 0.23 BEh
%6 F—6 |&LEEKHADO 0.27 0.30 0.22 BEh
97 F—6  |FIEHISET FiR 0.46 0.37 0.31 BEh
98 F—6 |E&H/\RXEiTE 0.21 0.28 0.25 BEh
99| G—1 TEZF (@ -XXIE) 0.20 0.18 0.20 £
100| G—3 |FAfF LEEHS 0.20 0.17 0.16] HEEh
101 G—4 |&EKEREEGEIGRT{TI) 0.31 0.28 0.25 BEh
102| G—4 |E3EHhE 0.25 0.23 0.19 BEh O
103] G—5 [HREHRAHCCEI&EHIF{ti 0.24 0.21 0.18 BEh
104] G—5 [IFLEEEHhE 0.40 0.36 0.30 BEh
105 G—6 | XEBHEEFEHR 0.09 0.11 0.11 Bh O
106] G—6 [BEHFTFE 0.24 0.23 0.23 Eh
107 H—3 A 3 4 R i 0.15 0.15 0.16 Bh A
108 H—4 |EEBECAIILEE 0.15 0.15 0.12|h (F5E3cm)
109] H-—5 Eﬂ’n%ﬁﬂ%ffﬁﬁ BRIA L) 0.22 0.21 0.19]# h( = 10m)
110l H—6 [KERIEH#DERE 0.21 0.24 0.19 Eh
111 1—3 Faoo s (E) 0.17 0.17 0.16|Mh (F5E5cm)
112 1—4 BFERICYHRTILAOMAE 0.14 0.15 0.14[# h(*ﬁ@ﬁscm)
113 1—4 BADER () 0.06 0.08 0.08 BEh
114 1—4 HRORX v JiHAO 0.18 0.17 0.14[kEh (FEE60m)
115 1—4 A ELERRH L AR R A5 m CKE S ) 0.18 0.16 0.11|BEh FEE5cm)
116 J—5 |FELEIHEIF 0.06 0.07 0.11[kEh (FEE5cm)
117 K—=8 |HFroRILAOEFES 0.11 0.10 0.09[REH (FEE 1cm)
118 K—3 B ILIUTE - — 0.04] E£(1/4) —
119] K—3 [BEAEfHHE - 0.06] FE(11/4) —
120] K—3 |XEREIFEBFE 0.10 0.11 0.10[ B (F&EE10cm)
121 K—4 |li#E - — 0.14 9/7 —
122 K—4 |i#E 0.05 9/7 —
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